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QUESTION 1

The lean branch office relies on the WAN to provide a majority of its application services. However, essential
infrastructure services can be hosted locally. What is one example of an infrastructure service for a hospital or medical
office? 

A. YouTube 

B. record archiving system 

C. remote administration 

D. electronic medical records 

Correct Answer: D 

 

QUESTION 2

Which versatile, high-performance product provides up to three times better performance for IPsec on the ISR than
without the product? 

A. Cisco VPN ISM 

B. Cisco NCE 

C. Cisco NSE 

D. Cisco ASA 

Correct Answer: A 

 

QUESTION 3

What are the three architectural building blocks of the enterprise WAN? (Choose three.) 

A. regional WAN 

B. MAN 

C. LAN 

D. WAN core 

E. data center interconnect 

F. virtual overlay 

Correct Answer: ABD 
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QUESTION 4

What is Cisco CWS? 

A. a cloud-based web-filtering service 

B. an appliance 

C. a Layer 7 firewall 

D. an IPS solution 

Correct Answer: A 

 

QUESTION 5

Why has visibility into network applications become a problem for IT? 

A. IT has no tools that can look inside an Ethernet packet. 

B. New protocols are being used. 

C. HTTP has become the primary transport protocol for most applications. 

D. Visibility into applications is not an issue. 

Correct Answer: C 
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